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ENGLISH VERSION

Instructions : (1) Figures to the right side indicate marks.
(2) Show necessary calculations as a part of answer.

1 From the following information of Maharaj; Company Ltd., 20

estimate the working capital needed to finance a level of
activity of 1,20,000 units of production per annum :

Particulars Cost Per unit
Amt. (Rs.)
Raw materialS........ccoooeeeiiiiiiiiiiiiiiiieeeeeeeeeeeeee e 80
Direct 1abour ......cooovveeeiiiiiee e 30
Overheads
(except depreciation Rs. 10 per unit)........ccceeevvvvennennnes 60
Total COSt..oiviiieieiiiee e 170
Profit .o 30
SellING PIICE oovvveeeiiiiiee e 200

Additional Information :

(1) Average raw material in stock : 1 month.

(2) Work in progress (assume 50% completion stage in
respect of conversion costs and 100% completion in
respect of material) average 2 weeks.

(3) Average finished goods in stock : 1 month.

(4) Credit allowed by suppliers : average 1 month and to
debtors : 2 months.

(5) Time lag in payment of wages : One and half weeks.
(6) Overhead expenses : 1 month.
(7) Cash balance 1s expected to be Rs. 1,20,000.
(8) Calculate debtors on the basis of sales.
You may assume that production is carried on evenly
throughout the year and wages and overhead expenses
accrue similarly. All sales are on credit basis only.
OR

1 The Y Ltd. produces 2,34,000 units of production. 20
The cost per unit of the product is as follows. Based on the
information calculate the amount of Net Working Capital :

Particulars Amt. (Rs.)
Raw Material .........cooeiiiiiiiiiiiiee e 90
Direct Labour........cooeeiiiiiieiiieeeeeee e 40
Overheads (Including depreciation of Rs. 10) ................. 85
Total COSt.ciiiiieeiiiiieeeeeee e 215
Profit oo 60
Selling PriCe........ooooviiiiiiieiieiiieeeeieeee e 275
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The raw materials are in stock, on average, for one
month and materials are in process, (50% Complete)
on average for 4 weeks.

Finished goods are in stock on average for 1 month.

Credit allowed by suppliers is 1 month and credit
allowed to debtors is 2 months.

The average lag in payment of wages is 1.5 weeks and
of overheads is 1 month.

20% of the production is sold on cash basis.

It is expected that a sum of Rs. 2,10,000 is required
as minimum cash in hand.

It 1s to be assumed that production is carried on evenly
throughout the year; Wages and Overheads accrue
similarly and a time period of 4 weeks is equivalent
to one month.

Calculate debtors on the basis of sales.

2 From the following information of Sai Ltd. prepare a

cash budget for the period January to June 2021 :

(1)

2)
3
4

®)

(6)
()
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The estimated sales and expenses are as follows :

Month Sales Salaries | Sundry exp.
November 2,00,000 30,000 27,000
December 2,20,000 30,000 27,000
January 1,20,000 24,000 21,000
February 1,00,000 24,000 30,000
March 1,50,000 24,000 24,000
April 2,40,000 30,000 27,000
May 2,00,000 27,000 27,000
June 2,00,000 27,000 27,000

Cash sales are 20% and remaining are credit sales.
Gross profit ratio on sales is 25%.

The 50% of credit sales are collected in the next month
after sales while 30% in third month and remaining
20% 1in fourth month.

Anticipating sales of each month necessary purchases
are made in the preceding month while payment of it
1s paid after next second month of purchase.

Time lag for payment of salary is 1/3 month and time
lag for payment of sundry expenses is 1 month.

Debentures are sold of Rs. 40,000 in January.
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The company has a minimum cash balance of
Rs. 40,000. Funds can be borrowed in multiples of

Rs. 1,000 on a monthly basis at 12% per annum.
Interest is paid on first day of next month of borrowing.

(9) Cash balance at the end of the December 1s Rs. 60,000.
OR
2 From the following information prepare cash budget for 20

4 months ending on 31-03-2021 :

Month Sales |Purchase | Wages | Overheads

October '20 6,00,000 | 4,00,000 | 80,000 30,000

November '20 5,00,000 [ 4,20,000 [ 60,000 34,000

December '20 7,00,000 [ 5,00,000 [ 70,000 35,000

January '21 8,00,000 | 6,00,000 | 80,000 32,000

February '21 7,60,000 [ 6,20,000 [ 70,000 32,000

March '21 8,00,000 | 6,40,000 | 60,000 34,000

Additional information :

(1) The time lag for the payment of wages is 1/8 month.

(2) The time lag for the payment of overhead expenses is
1/4 month.

(3) Depreciation of Rs. 2,000 per month is included in
overhead expenses.

(4) The period of credit allowed by creditors is 1 month.
Cash purchase is 25% of credit purchase.

(5) Cash sales are 25% of total sales. The period of credit
allowed to debtors is 1.5 months.

(6) Sales commission 5% on total sales is to be paid in
the next month after actual sales.

(7) The cash balance at the end of the November is
Rs. 93,000.

3 The following are the details regarding the operations of 15

a firm during a period of 12 months :

SAlES i Rs. 12,00,000
Selling price per unit.............ccccoeeeeeevvnnnnn... Rs. 10
Variable cost price per unit...............c......... Rs. 7
Total cost per unit ........ccceeevvvveeeiiiiiieeeeeennne. Rs. 9

Credit period allowed to customers is one month. The firm
is considering a proposal for a more liberal extension of
credit which will result in increasing the average collection
period from one month to two months. This relaxation is
expected to increase the sales by 25% from its existing level.
You are required to advise the firm regarding adoption of
the new credit policy, presuming that the firm's required
return on investment is 25%.

OR

DP-19080002040401 ] 7 [ Contd...



Bharat Ltd. presently has annual sales of Rs. 25,00,000 15
and an average collection period of 30 days. It is allowing
for a more liberal credit policy. If the credit period 1is

prolonged, the company thinks sales and bad debts losses

to increase in the following manner :

Alternative Increase in|Increase in| Bad debts %
Credit Period Sales | of total sales

Amt. (Rs.)
A 10 Days 1,25,000 1.2%
B 15 Days 1,75,000 1.5%
C 30 Days 2,00,000 1.8%
D 42 Days 2,560,000 2.2%

The selling price per unit is Rs. 4. Average cost per unit
at the current level of operation is Rs. 3 and variable cost
per unit is Rs. 2.40. If the current bad debt loss is 1% of
sales and the required rate of return investment is 20%.
Consider 360 days in a year.

You are required to analysis anticipated credit policy and
give suitable recommendations to company.

4  Paras Ltd. provides the following information : 15
Item 1 2 3 4 5 6 7
Units 2,000 1,000 {3,500 | 2,500 | 5,000 | 3,200 | 2,800
Price per
unit (Rs.) 55.00(100.00({12.00| 7.20 | 2.72 | 3.20 | 2.20
From the above information prepare a statement of ABC
analysis of the items of materials.

OR

4 Paresh Ltd. uses three types of materials A, B and C 15
for production of the final product X. The relevant monthly
data for the components are as given below :

Particulars A B C
Normal usage (in units) 200 150 180
Minimum usage (in units) 100 100 90
Maximum usage (in units) 300 250 270
Reorder quantity (in units) 750 900 720
Reorder period (in months) 2to3 |3to4 |2 to3

Calculate for each component :-
(a) Re-Order Level

(b) Minimum Level

(¢) Maximum Level

(d) Average Stock Level
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